Analyse Muons 100 GeV
run 714408

Yannis, Max et Jean

j ’dp@ 6/27/12



/
!

/;’ Create "Events”

Start from LCIO record )
Convert it to root file with all hits @
Look for Time clusters .

Define the threshold of nb of hits in
time slot above which we have.an
vent. Is 15 now S g !
ook for maxima above threshold

v
TP T R PN L PO

efine an event : All hits in +- 5Time
slots around Max = good hits

Create a 2nd root summary file
CaloEvents, containing all good hits
XY, Z, deltaT, HitL,M H etc...

’dP@ 6/27/12



Iiming Cut
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Tmax — Time All Event Hits

Take +-1 RPC, +- 2 uMegas slots around
T Max, eliminate rest of the hits
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Density = Total nb of Hits / Nb of layers hitted

, Look for MIPs

Density = Nb of Hits / Nb of Layers
Select MIPs

Nb of Hit Layers within last 10
Penetrating MIP = 6 Layers / 10
Forward && 6 Layers / 10

Nb of Hit Layers within the first 10— &

Backward J

’dp@ 6/27/12

1 IS T Nl S N N
5 10 15 20 25 30 35 40 45 50
Nb of layers Hitted within 10 1st and within 10 last (20+nb layers)



- Select Penetrating MIPs

Fit a straight linein XandY . ;
Fit works Chi2 for Npoints-2 o f

> F
5000

deg of freedom
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Average Residuals per

layer
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Efficiency
=] o o W0
M R R 0

]
=

Efficiency

L0 oo o0 08 o;
= b ok N om

%
=
Lh

,GP® 6/27/12

|III|III|III|III|III|III III|III|III|I';|I
I|III|III|III|III|III|III|III|III|IIInIIJI

L]
=

10

Lh
[
=
[
L
Ll
=

35 40 45
Chamber Number



/ uMegas Efficiency in a chip Region

/
Chamber’s nb from 0 to 49

Layer 48

Layer 49

Y Pad numbers

To compute efficiencies a fiducial

volume is defined :
2< Ndamier < 94 in both

directions x,y
X,y 2 cm far from ASUS limits

X Pad numbers

Y Pad numbers

’dp@ 6/27/12



70

NB of chips

60

50

40

30

20

0 gt by e Lo by by s s b g L L 1T

=

10 20 30 40

’dP@ 6/27/12

50 60 70 80 90 100
uMegass chips Efficiencies

RPC and uMegas chip
efficiency
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Multiplicity

Nb of Hits in 7x7 cm around track
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Conclusion

Globally the Calorimeter works very well
Fine details have to be understood the next weeks
Hadronic shower analysis to be done.

’dP@ 6/27/12

11



= 100 ‘ ‘ | s e 2
g - R R LY g .300( B
u - oo - B 2 -t.:_-_ ==
2 T ll- '-I."i-l-' N e T -.-i:':' . g
= 8 a7 -, "Ly - i U, —1250( 3
g L LT P L = . .
g gof o Enm o A T

SR B S b e L ] - i

. i ] T R

"
-

L
A
NS
el
=
£k
-
i,
1
|

,
L
[ .
N

I.

O R

it r 1

i T\"l'"ﬁ:-a"r -:'r:r:'a-ﬁ- LRI LY ! 40 | 80 d o0 100

| | 1111 111 1 11 11 1 111 | ol | | wl | [l - 1

OI] 10 20 30 20 30 a0 70 20 90 100 0 RPC layer 33 X coordinate (cm)
MicroMegas layer 50 X coordinate {cm)

X versus Y Map RPC Layer 33

. Layer 50 pMegas A noisy chip 1DIF has problems

| appears after ~9k events.

S : ERN WATCH OUT for
I i C m
= "g § Eg ? %2‘5;—' . . . t _; prOblems
Q. = D® O z 2w e’ . * o e ¢ . o. __
"_" —_— - 3 '.‘.. '“..“..0 S, . .
aE ' .
| £ .
E 0sf- E
| IJU: S lllJ = 2|D — 3'0 — I4|[| - 5||J — ;0

Chamber Layer number

Layer Nummoer

:]!l.
,dP:P> 6/27/12 12



	Slide 1
	Create “Events”
	Timing Cut
	Look for MIPs
	Penetrating MIPs
	Average Residuals per layer
	Efficiency
	mMegas Efficiency in a chip Region
Chamber’s nb from 0 to 49
	Slide 9
	Multiplicity
	Conclusion
	Slide 12

